(1)ps, s2lo
:é]l_)._._.) Lo &l

0,180 .

a(X) 1 J'J(x)dx =1,,, a<0,,, b>0
e ‘
j'f(x)J(x)dx=f(O) a<o0 ; b>0
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1) S(x)=3(—x)
(2) x Ax)=0

3) S(ax) -1 A(x)

al

(4) S(x* —a?) =210[5(x —a) +S(x +a)

5(x —X;)

(5) Ip(x) W ; x; =roots of @x)=0

6) Xx) =%TIeikx.dx

—+oco

(7)  Xr)=cXx).Xy).cXz) = i% Je™ .dx.dy.dz

(2)p5, o=l
tao stianall asiols 1 515V

toloisld Huilgdg Jug ol ol saicl Vol
« 7 IWL)AJLLQJIG.A&LIJULG_ZLO B0 A l()il.l
&43213,ULML9,0U@Q_93210 p.a.nJlul.)..?l;

ol plas
Jobs Ul pla 9 (AB)wba)l o uall Lol

1) (A.B) =A°B° —AB
(2) (A.B)=AB—A° B°

(3 (A.BY=A“B“ g_z
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contra) jusill de)xall LS ol (nous + i LS 0l
asjooll A razioll lndluo b sl ) (A raziol) ((variant
(oYl glxal

§| ) ‘A iaxiol) ((covariant) ju2ill d89lgoll LS o]l Lol
radMall (lasrid (@090l ladluall

AL =g AT

A, =—A° H A, HH k—=, 2,3

Sl aisloo uSu:u ww bl o uall J.oL? wJlg

(A B —A“B_ _.—A__B“~=—A__B__.g“~>

108 I Juioi 9 Lol
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owbidl| sioall olss gas (0l LS

g g, =4

K, k, g, = k)

sasMall o bWl staall 53

<Fi2s Hi2 — b H =iz —©

9555 Loz 35 lo)l (s5lus aianll 13 Laols 5 5
)1.9 dJ.)yl u_g_i) Lo 2ic Dl_g u.”..uu LSSLU\U._S 4M).o d.].)yl
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a9 g0a0ll il Llumd dorsiaoll xclgtdl jass 1Luli

Vs A+ys) = (1+ys)

@
(2
3
(4)
)
(6)
()
®
©)
(10)
an
12)
(13)
()
(15)

(16)

a7) Trk'k

(18) Tr(abéd) =4[ (ab)(cd)+(ad)(bc)—(ac)(bd)]

a9 (p.—pIk,—k,) =(p k) Hpk)—(p k) —(pk)

(v,)* =1

Ys Vu = Vs Vyu
(+y;)* =2(01=%y;)
i-ys)* =0
Tr(y, ys;) =0
Tr(y, k ys) =0

Tr(ky, kys) =0

Tr(p ¥, P Vs)=—4ipap,e?f??

Ir(y,) =0

Tr (k) = 0

Tr(y, y,) =4g"’
Tr (k' k) = 4k k)

Tr(y, Y, Ya) =0

Tr(p v, b v,) =4l(py by —(p P)I™ +p,p,)

Tr(ky,) = 4k,

v =k S, —(k Dk, +Hk Dk,
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